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QUESTION 1

A company has chosen an Aruba mobility controller solution for the redesign of their wireless network The design will
have two 7205 controllers in a cluster for campus employees and a single VMC-50 virtual controller for remote access
via a

DMZ. A Mobility Master (MM) is used for centralized license and controller management. All controllers will minimally
run ArubaOS 8 4 or later Currently the company has 1.000 employees. There are 30 branch offices that will use RAPs
to

connect to the DMZ controller. A peak of 100 users concurrently using the VIA client will also connect to the DMZ
controller.

How many Aruba LIC-VIA licenses does the company need to purchase for this solution?
A. 100

B.1

C. 1,030

D. 130

Correct Answer: C

QUESTION 2

A customer has over 100 access layer switches. The customer requires user authentication done via the Aruba
Dynamic Segmentation feature. What components are required to implement this solution? (Select two.)

A. enterpnse authentication server
B. Aruba APs

C. Aruba mobility controller

D. AirWave server

E. Active Directory server

Correct Answer: CD

QUESTION 3

Which component uniquely defines the BSSID when implementing an employee SSID?
A. Case-sensitive SSID name

B. Radio MAC address

C. Wireless device MAC address

HPE6-A66 PDF Dumps | HPE6-A66 Practice Test | HPE6-A66 Exam Questions 2/3


https://www.geekcert.com/hpe6-a66.html
https://www.geekcert.com/hpe6-a66.html
https://www.geekcert.com/hpe6-a66.html

VCE & PDF https://www.geekcert.com/hpe6-a66.html
2024 Latest geekcert HPE6-A66 PDF and VCE dumps Download

GeekCert.com

D. Case-insensitive SSID name

Correct Answer: C

QUESTION 4

A customer requires a campus core virtualization solution that supports a dual control and management planes, as well
as active-active forwarding paths. Which solution would meet the customer\\'s requirements?

A. Mesh stacking

B. VSX

C. Backplane stacking
D. VSF

Correct Answer: C

QUESTION 5

A network architect is designing a new Wi-Fi solution for a customer The customer currently occupies a one-story
building on a small campus. In one part of the building there is an auditorium, where the ceiling height and attenuation is
different from the rest of the building. What should the network architect create in VisualRF to identify this difference
when planning :ne APs?

A. Define the appropriate properties in the Network View

B. Create a Region in the Floorplan View

C. Spit the Building View into two Floorplan Views

D. Define the appropriate properties in the Building View

Correct Answer: D
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